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He is the(3# % A) of this company. (a. assembly b. spokesman c. shortage)

(B M #9) opinion has turned against the nuclear plants. (a. Dominant b, Display c. Domestic)

The conference room has a seating (£ #) of 600. (a. capable b. capacity c. ability)
The (# &) of the whole paper is not consistent. (a. format b. form c. information)
This is the only one. There is no (GE#2). (a. alter b. alternative c. pitfall)

[ learned (EM &) skills for my future work. (a. practical b. practice c. real)

New Zealand has a low rate of (%k#%). (a. employee b. employer c. unemployment)

Can you (# %) a fancy café to me? (a. qualify b. demand c. recommend)

Parents are always (Bit784) about the children s safety. (a. concerned b. concerning

c. conservative)

((j )10. The (&3%3e4%) of our last meeting was approved. (a. agenda b. second c. minute)

B. Please write down five most common job interview questions in English or Chinese. (20%)



